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QUESTION 1

For which three issues should fiber-optic network segments be tested? (Choose three.) 

A. attenuation 

B. near-end crosstalk 

C. length 

D. polarity 

E. jitter 

F. tensile stress 

Correct Answer: ACD 

 

QUESTION 2

According to the Purdue Reference Model, at which layer would you perform manufacturing operations and control? 

A. Level 0 

B. Level 1 

C. Level 2 

D. Level 3 

E. Level 4 

Correct Answer: D 

 

QUESTION 3

Exhibit: 
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Refer to the exhibit. The output that is shown is generated at an industrial switch. Which three statements are true?
(Choose three.) 

A. All ports will be in a state of discarding, learning, or forwarding. 

B. Thirty VLANs have been configured on this switch. 

C. The bridge priority is lower than the default value for spanning tree. 

D. All interfaces that are shown are on shared media. 

E. All designated ports are in a forwarding state. 

F. This switch must be the root bridge for all VLANs on this switch. 

Correct Answer: ACE 

 

QUESTION 4

You are a called upon to troubleshoot connectivity problems to a network device on a production floor. You have used
ping and traceroute to verify that you cannot connect to the device from the management network. The network is
209.165.202.128/27 and the device has been given the IP address 209.165.202.158 and mask 255.255.255.224. You
have verified that you can reach the device with your computer connected to the same switch as the device. What could
be the cause of this problem? 

A. The device is set to the wrong subnet mask. 

B. The device is set to the wrong IP address. 

C. The device has no IP default gateway. 

D. The device is connected to a switchport in the wrong VLAN. 

Correct Answer: C 
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QUESTION 5

Which two commands can help you to determine what image is running on your industrial switch? (Choose two.) 

A. show version 

B. show spanning-tree 

C. show interface-switch 

D. show interfaces gigabitEthernet x/y switchport 

E. show license 

Correct Answer: AE 
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